[ Fake rate vs vertpos |

Fake rate vs

1

0.4

0.2~

0.8

. 2 VU SO Y

0.95

- |

1072 107 1

10 10?

[ Duplicates Rate vs vertpos |

0.0

0.009]
0.008|
0.007
0.006
0.005]
0.004]
0.003
0.002

0.001

oL H H
1072 107 1

10

[Pileu

p rate vs vertpos |

0.5
0.45]
0.4
0.35
0.3
0.25]
0.2
0.15]

0.1

0.05

! T

...............................................

............................................

10?

1

0.8

0.6

0.4

0.21-

Y |

8 PSS S WL % TN Ny v

0.95!

30

0 =10 0 10 20 30

Fake rate vs.sim PV z |

1_

0.8

0.6

0.4

0.2

...............................................

it

REETO)

15 -10 =5 0 & 20

[ Duplicates Rate vs sim PV z |

0.0
0.009
0.008
0.007
0.006
0.005
0.004]
0.003]
0.002
0.001

0.5

q...

Pileu

p ratevs.sim PV z]

0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0




	Contents
	Page 1


